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JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)
f¥] 47,385 110, 013] 53,661 56, 352 70 25 30 56 86 55  358] 303 0 84 84
HI—TH 693 1,478 734 744 10 12 -2 1 3 14 15 1 0 0 0
FLl T H 549 1,313 657 656 0 -3 -1 0 1 -2 1 3 0 0 0
LI =TH 443 1,030 508 522 —4 -6 -1 0 1 —4 2 6 -1 0 1
JLlAE 1,685 3,821 1,899 1,922 6 3 —4 1 5 8 18 10 -1 0 1
Sk —TH 473 956 448 508 2 4 1 1 0 2 4 2 1 2 1
. = 7210 1,757 855 902 -2 —4 0 1 1 —4 4 8 0 0 0
SR —TH 5451 1,327 635 692 1 -1 1 1 0 -3 3 6 1 1 0
S AT H 399 917 446 471 0 -2 0 0 0 -1 2 3 -1 0 1
ot T H 605 1,325 637 688 -2 —4 -3 0 3 1 2 1 -2 0 2
BN T B 222 485 234 251 1 1 0 0 0 0 0 0 1 1 0
ARt TH 640/ 1,718 830 388 —4 -8 0 1 1 -3 0 3 -5 0 5
oA\ T H 395 882 419 463 1 -1 -2 0 2 0 1 1 1 1 0
IV B 602 1,418 716 702 1 1 -3 1 4 1 3 2 3 3 0
S e atl  4,602( 10,785] 5,220 5,565 -2 -14 —6 5 11 -7 19 26 -1 8 9
e n—1H 337 806 402 404 -4 -13 -2 0 2 -2 1 3 -9 0 9
e T H 952l 2,023] 1,005| 1,018 0 -1 —4 0 4 3 5 2 0 0 0
HHk o —TH 680[ 1,447 709 738 1 -1 -2 1 3 1 2 1 0 0 0
W A AEEL 1,969 4,276 2,116 2,160 -3 -15 -8 1 9 2 8 6 -9 0 9
ST a1 H 528 1,224 606 618 -1 1 1 1 0 0 2 2 0 0 0
ek R _TH 349 922 476 446 —4 —6 0 0 0 —6 2 8 0 0 0
Mk R =TH 242 517 263 254 0 -2 0 0 0 -1 0 1 -1 0 1
ik L G| 522 1,263 637 626 -1 1 -3 0 3 5 6 1 -1 0 1
sk aaEt] 1,641 3,926] 1,982 1,944 -6 -6 -2 1 3 -2 10 12 -2 0 2
TEIT) 364 872 418 454 7 4 -1 0 1 5 6 1 0 0 0
HOEEN— T H 199 431 209 222 -2 0 0 0 0 1 2 1 -1 0 1
HOEE T H 425 983 472 511 0 1 -2 1 3 0 3 3 3 3 0
HoEEI =T H 682l 1,745 858 887 1 4 1 1 0 3 4 1 0 0 0
HOEEAN T H 747 1,863 908 955 3 2 0 1 1 2 5 3 0 0 0
HEROH T H 417 995 506 489 0 0 0 0 0 0 1 1 0 0 0
HOEEIS T H 394 923 454 469 2 2 -1 0 1 2 3 1 1 1 0
HoEEOETH 659 1,460 715 745 -2 -8 -2 1 3 -3 2 5 -3 0 3
HOEESOSE 3,523 8,400 4,122| 4,278 2 1 —4 4 8 5 20 15 0 4 4
PEEER 1,504 2,890 1,365 1,525 0 1 -2 0 2 3 11 8 0 0 0
FHIAR 315 676 341 335 -1 -3 -1 0 1 -2 3 5 0 0 0
EE g —T 469 981 473 508 3 8 1 1 0 0 1 1 7 7 0
EE g — T 246 504 250 254 1 2 0 1 1 1 1 0 1 1 0
R =T H 521 1,178 587 591 -1 -2 1 1 0 -3 1 4 0 0 0
TEE Py T 624 1,313 630 683 -2 -2 0 2 2 -3 4 7 1 1 0
EEP g R T H 236 553 276 277 3 3 0 0 0 2 2 0 1 1 0
EER A2 2 096 4,529] 2,216 2,313 4 9 2 5 3 -3 9 12 10 10 0
EEIARRT— T H 674 1,429 682 747 -1 -1 0 0 0 0 3 3 -1 0 1
EEIARRT T H 665/ 1,334 631 703 -5 -8 -1 0 1 -2 2 4 -5 0 5
EEOARRTAE 1,339 2,763 1,313| 1,450 -6 -9 -1 0 1 -2 5 7 -6 0 6
RPN 285 800 435 365 9 6 -1 0 1 7 9 2 0 0 0
WHR—TH 706/ 1,669 835 834 0 -7 2 2 0 —4 2 6 -5 0 5
R T H| 1,683 3,953] 1,893] 2,060 4 0 1 2 1 -1 17 18 0 0 0
WHR=TH 834/ 2,172| 1,055| 1,117 -1 -2 -3 0 3 -2 1 3 3 3 0
HHRIT H 4950 1,200 574 626 0 -6 -3 0 3 -2 0 2 -1 1 2
HPREEH 3,718 8,994| 4,357 4,637 3| -15 -3 4 7 -9 20 29 -3 4 7
HiR—TH 665 1,582 773 809 -1 -2 -1 0 1 -3 2 2 3 1
IHR_"TH 926 2,272| 1,125| 1,147 6 10 1 1 0 4 5 8 3
PR =TH 465/ 1,007 517 490 -3 -5 0 0 0 —4 -1 0 1
dbrhiR&ar 2,056 4,861 2,415| 2,446 2 3 0 1 1 -3 14 17 6 11 5
T IROBTHT 319 809 387 422 -1 1 0 0 0 1 2 0 3 3
el 1,602( 5,187 2,332 2,855 1 -3 -3 2 5 0 9 0 1 1
FRE— T H 742 1,788 875 913 -2 -5 -2 1 3 -2 4 -1 3 4
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FYlE 1T H 742 1,849 925 924 0 2 0 1 1 0 2 2 2 2 0
MoE =1 H 643l 1,558 777 781 -1 -2 0 0 0 2 3 1 -4 0 4
A EN T H 937l 2,233| 1,084 1,149 7 -1 0 1 3 12 9 3 3 0
RCENNE 613 1,424 694 730 7 0 0 0 2 8 6 3 3 0
MAEST H 420l 1,016 483 533 0 0 1 1 3 4 1 -2 0 2
Ml EaE 4,097 9,868] 4,838] 5,030 11 6 -3 3 6 8 31 23 1 11 10
VEPIe S 543l 1,126 557 569 -5 -2 0 0 0 1 3 -3 2 5
e —TH 302 682 318 364 -2 -2 0 0 0 -2 2 0 0 0
i — T H 583 1,351 647 704 1 1 0 0 0 1 2 0 0 0
A gl 885 2,033 965| 1,068 -1 -1 0 0 0 -1 4 0 0 0
E— 1 H 344 735 371 364 31 31 1 2 1 30 39 9 0 1 1
B — T H 632| 1,378 659 719 -6 0 0 0 —4 4 8 -2 0 2
=T H 393l 1,043 525 518 0 0 0 1 1 0 0 0 0 1 1
EAE| 1,369 3,156 1,555 1,601 31 25 1 3 2 26 43 17 -2 2 4
e —TH 383 972 457 515 1 1 -1 0 1 0 0 0 2 2 0
WHE T H 4471 1,120 564 556 0 -2 0 0 0 -2 1 3 0 0 0
HHE T H 761 1,908 971 937 4 6 0 2 2 0 1 1 6 6 0
W& T B 451|| 1,054 515 539 0 -1 0 1 1 -1 0 1 0 0 0
B E ] H 788 1,763 864 899 0 0 -2 0 2 0 5 5 2 3 1
HHIENT H 244 517 257 260 0 -1 -1 0 1 -1 0 1 1 1 0
HEOEr 3,074/  7,334| 3,628 3,706 5 3 —4 3 7 —4 7 11 11 12 1
<HWE—TH 585 1,391 684 707 -1 -1 0 2 2 3 3 0 —4 0 4
<HEIL—TH 711 1,504 739 765 0 1 1 1 0 2 5 3 -2 0 2
SHBEIL=TH 527l 1,171 580 591 —4 -8 1 1 0 -9 1 10 0 0 0
<HEWLPTH 560[ 1,189 606 583 -2 —6 -1 1 2 -5 4 9 0 0 0
<O T H 318 725 390 335 0 0 1 1 0 -1 5 6 0 0 0
<WEEE 2,701 5,980 2,999 2,981 =7 -14 2 6 4 -10 18 28 -6 0 6
WIE AR —TH 789 1,708 857 851 3 1 -1 1 2 1 7 6 1 1 0
WIEAR T H 471 1,138 583 555 0 2 1 2 1 1 2 1 0 0 0
PIEARTEE 1,260 2,846 1,440 1,406 3 3 0 3 3 2 9 7 1 1 0
s 401 791 372 419 3 1 2 2 0 2 4 2 -3 4 7
ek —TH| 1,024 1,670 741 929 1 3 0 1 1 3 7 4 0 0 0
e T H 401 699 336 363 -1 -2 1 1 0 -5 3 8 2 2 0
kR =T H 629 1,697 798 899 -1 3 2 2 0 1 3 2 0 0 0
sk BRI H 402 844 410 434 -2 1 1 0 —4 3 7 1 1 0
A a A el 2,456 4,910 2,285 2,625 2 4 5 1 -5 16 21 3 3 0
FRIREET 20 51 26 25 0 0 0 0 0 0 0 0 0 0
B 737 1,751 848 903 -1 0 0 2 2 4 2 -2 0 2
VEEE 279 675 314 361 -1 -1 -1 0 1 1 1 0 0 0
R — T H 4431 1,114 562 552 11 22 -1 0 1 21 22 1 2 2 0
e T H 393 927 444 483 1 1 1 1 0 0 6 6 0 0 0
oo B R 836| 2,041| 1,006 1,035 12 23 0 1 1 21 28 7 2 2 0
P — T H 674| 1,387 686 701 8 2 2 0 11 5 0 0 0
P T H 512 1,275 605 670 10 -1 0 1 10 3 4 6 2
Ve A e 1,186 2,662 1,291] 1,371 6 18 1 2 1 13 21 8 4 6 2
P e 292 662 328 334 -3 -5 1 1 0 -6 6 0 0 0
BEHIR 231 538 289 249 2 4 1 1 0 3 2 0 0 0




